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DOW30 17873.22 (+0.25%) WTI 49.33 (-0.3%)
NASDAQ 493351 (+0.65%) COMEX3 1213.80 (-0.5%)
S&P500 2099.06 (+0.43%) COMEX2| 2.1140 (+2.85%)
KOSPI 1969.17 (+0.62%)
KOSDAQ 691.54 (+0.52%) st 1.778% (-1.2bp)
o|=2 1.85% (+2.3bp)
S=2/eY 11112 (-0.0081) A3 143% (+2.0bp)
Sz/d 122.69 (-0.16) = 0.14% (-0.8bp)
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QEE -52 AH|XFAZ| K| %= -9.3 -7.0
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o= -52 S&P/CS 20CH = A|FERT}A K| (MoM) 5.4% 51%
-42 48 J4Q1X|E (MoM) 0.1% 0.6%
-428 Z2PCEE7IX|% (MoM) 0.1% 0.2%
-5 CPI (YoY) -0.2% -0.1%
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6% 1%
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-5 MZYPMI 50.1 50.0
== -52! H|XZ=EPMI 535
-5¢! CaixinX| & &PMI 494 493
FEZE -58 HMZEYPMI 515 515
6E 2¢ [Beige Book] & [ECB E3}d*3|o|] & [OPEC 3|9|]
A Al AT A A 268K 271K
o= -52! ADPHl=9 188 = 156K 175K
SFEZE -4 PPI (MoM) 0.3% 0.1%
63 3¢
-5 HsY1g 160K 161K
SE HYE 5.0% 4.9%
-4l BALX| -40.40B -41.00B
o|= -52! MarkitZgtPMI 50.8
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-48 A 0fEHOf (MoM) -0.5% 0.4%
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*LKTB: A7} 129.56 / &7} 129.60
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3y 1.468% ©) 3y -23bp )
5y 1552% (-0.5bp) sy 6.7bp )

10y 1778% (-1.2bp) 10y -17.3bp (+0.5bp)
D 1.560% (
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IRS OUTRIGHT IRS SPREAD

1y 1.4625%
2Y 1.4325%
3y 1.4450%
5Y 1.4850%
7Y 1.5250%
10Y 1.6050%

(+0.5bp)
(+0.25bp)
)
(-0.5bp)
(-0.75bp)
(-0.75bp)

1*2Y -3.00
2*3Y 1.25
2*5Y 5.25
3*5Y 4.00
5*7Y 4.00
5*10Y 12.00

(-0.25bp)
(-0.25bp)
(-0.75bp)
(-0.5bp)

(-0.25bp)
(-0.25bp)




